R EIALA
’ APAMEA

[OIH Y ZA 0% Q2| A L0 23 (55)

018 At (T2 &E
MY SZol=del el =7 FAR7I? 3| Ot 55 2400 7| Z & ol=g2 2o §=S0| ALk A2
Hag|azo soun 0|z, M, KT, 7|2, T Y, et g, Ao Wy, M2 Hight S, AN UXRE S
0|z, S8 S A0 Aoy, ¥= 550 2 Mo MotE O|Ch Of 22 M| =S 2 of=HHAM M E st
2 W7t 7Pol 25 8 2 =7 ML ZEiR|H O WE ZtAH e 2 L2

JqH of=Hel MBS 2|7 o EA FH[8HoF st=7t? AWM=, 70| A 22H= ZO|Ct MO 28t & FA S Kt
1 Fofst BA StatE SOl o= EHH A 2|0 A “Ijof U2t FHSHUCE “THO| A 22t 0= Zof| 143 —’F—7
Y E=X| HE 7L X| ZEO[LIEH(OF 24:42) 2| 7L O] A0{0F 3= O] R= Ol =EHH A X Of= AlZtof| SX| 2

=
S0l = ol "M T Eloka 4 2K &

—_

rr 4

7t = 7] WZEOICh SA| o= EHol B =SS EU L7 &0t
Che =l oz ohatgle R7H8 £7|11 A7t J2fLt etdeh &= QiTh Mo S2at o =5 2| 0| Ot% X Y RAX|
2 L Qldol T2 oA Of= ol 2R HEY 4 Q0 &+ )7 W20l /42l S E=HI8H| fleiMet: g

2 O|f& OFE ChASEZ| SISOICt “24l5t2r 702t LS| A OF 7t = ARAF Z20] &+
HUL Hol= 232 24 oo ME tXstet (U 5:8-9). =30 7HO| 7| =5HA| @42 [ OF
S et 2 Z 0 Al o §O{X| 1 Ao S 4= QUE

%EI7P77H01 UO{OF gt £ 2t oHe MO /MtE+E HE 7SS Fele AN A2|2E A
Jd2[A=Sa AR MAXSO|AH O] 2 SBHX| §7] /IsiMOlct AR B &, 0|52 52 & 2Ll 0F =l =8 22{7|
QBN f2l= ol Q2|22 Z30f 25| MoF g 240|1, T2 Ql St ol 252 HHZ B 21 2ot ES2|X]
wE S0 = M= AH7t £|0{oF & Z40|Ct,
J2|1 R X 2T0| OfL 2L IR 2 LY 2o M &2 RES Wet7taxt ot |H 2 F&, 2o Y50
ZE7HR| FEE X2 0] QAOJOF StLt. T1217| RIShAf LY 2tofl AA = B Hl FAtet Q=0 HSHA FHO|
of, 20 A F4 M S FHI WY SHSS Wet S0l = Ap7t 2| O{OF L.
JHH IO A= FHHLA SHZ FALAT? BN Mofets BES St

Ck Al Ol S X[ 7 0] QLO{ 7| =5t2t(OF 26:41). o A HO| == Z2QA7t? S
Lt B0 HE 7I20/X| @1, L ApMIFCHE M S 9 &8

S0 2
ol ofti7l? 17| WR0| 7| =312k ot 7| =7} stLbE el mE0| 2 sLtEIte] W 0|7| W 2217 7f

A
il
u
o
0
Ir
>
ok 0
Of

Hu w

Ol2] B MOf 7| =52t 2ES ot
L kel S 0| O| R O{X|X| g1, 5t

mn

|of ‘4zt OrZ 3t AlZHS WI9E7| 7] I

LSO et EEE ot I ST 24lstet RE0] >t EdH Lt “Bh=2 OFX[ 0] Zh77t0] el 82z |
o= FAE A2 2 UG 7| E5tEk (AT 4:7) M2 & FISHA B0 FU S A2 G| e, X7 BH| 2| SEE
Zt2| 2t of S Ql FHoll WX = A7t “HE = 222 Y2t AT o B SN x| 2o g =2
OFZ0| &3t X| 0 250l O 20| Rt 20| {3|0f A A3t2|2l (5 21:34) 2 EESHAICt ST etnt exgar d2o


https://texaschristiannews.com/

g 29 otaS =5 UE SH2 = HAA = MO ZABHK]| RopA & 7t S22 2|7t F2| & o
Of gt

Ot2 2] 2|7t of AUCHE SHE M AL E O/ 28 = A=71E SHM &5 5 ACL X5 M o] ofE
A SO A=7t? Mg A Sl Aoz B4 Hul= 27t ofL 2t Mo St ool [ glel E=50| oE
A OIROR| 1 A=7t F=2| 2A #If= FHQl =1t 2T o[ 40| AO{OF BtEt B2 MOf RATkE SH= Of
FEHHM MESHAIZ|E 2ot 7|tsto] EH|SHs AO[Ch ol =Hel ME & 2 Ydtn, ZYdta, &0k ZH-5| 7|0t

of, ZASHH, M&t A E 20 225N, d=Hel ME S Z
Yot Z=H|SFL =712 o= Ho [ HOlek= 7|2 5382 242 =Y ASH2 = Mof QLo

Of 3tZUC.

==l
1%
0
u
rir
2
>
oc
1o
=}
ol
]
Hu
<
30
rir
\d
)
N
|.|-|
Ot

i
i)
N
e
2
>
i
Ll



